THOEIH TRELFER

TR AL HR RN AR
$H6FEIF5R B

=Y TEFE 14| 24F| 34| 44| BE| 64
1 & |BFMRRE FEARERE RESHBEHK=3 4 15:10{15:10/15:10{15:10/16:05/16:05
2 £

3 H

41 B [ImBEFIREA - —F IR 14:10{14:10/14:10{14:10{14:10{14:10
b K|BEHR 15:10{16:05/16:05{16:05/16:05/16:05
6 K|DE HERBRF 15:10{15:10{15:10{16:0516:05/16:05
71 K|(7Z T 14:10{14:10{14:10/15:05/15:05/15:05
8 | & |RIESHEREIN 15:10{15:10/16:05/16:05/16:05/16:05
9 £

10| 5

11 B |%5 SE5EPTAKEIR 14:10{14:10{14:10/14:10{14:10/14:10
12| k|55 BEH= BESEBRIRT 2 15:10{15:10{15:10{15:10{15:10{15:10
1317k |55 #RISERBEHHOE L ERISERERHE=Q 156:10{15:10{15:10{15:10{15:10{15:10
14 K|%5 x=EXF/T (3 4%H) 14:10{14:1014:10/14:10{14:10/14:10
15/ &85 &wHES—5 BESERAS4S 15:10{15:10/15:10/15:3015:10/15:10
16| £

171

18| A |4 M (B 13:20{13:20{13:20{13:2013:20/13:20
19 k|E 4 13:50{13:50{13:50{13:50{13:50{13:50
201k |EZDAH

211 K |#54 13:20{13:2013:2013:20/13:20{13:20
22 &|R4 MR BERK FEXEHFELOHE 13:50{13:50{13:50/13:5013:50/13:50
23 +

241 8

25| A |4 %X 1~3FRRARER 12:10112:10/12:10
26 K|HF3 BT —F T 6FRERHAZEA 11:15/11:15]11:15/11:15/11:15

27 K |FERKER

28| K|FFERKER

29 & |[FERKEH

30| & [FERKEH

31| B |FERKER

KTIRBEZEIERET D ENHYFTOTITEL LI,




